iI; WM IR ) TR B A PR A W

P H R 82

IEREGIE

BEREBZ BN ABILTE

(Am+=8)

i

S I

RREIT: EMNESHHEKR




WM IR ) TR B A PR A W

IERImm I W F H i 82
BEAERE
. BEBN
EFgHAL: MHRBEFHREGRAT (ILHEREER)
LHBREBBRENENESES
Witshr: HEHEABEFRAF
WAL LA RIAR S TREARAF
WBHERA. HMNIEHEH A TREEEFRAT
—. mB#EE:
1.KBREIRE:
HBHR | HEXRR | Ritsk | Rits
TESE
* X SHE | SRE | RE | AE | g
(F)
(F) (FP) (P) %
R 777 20 17 538 69%
wm M 858 15 6 649 75%
BF | 1004 12 13 817 81%
O 360 6 4 268 74%
EZE | 623 8 4 512 82%
B | 3622 61 44 2784 | 77%

1/6




il; WM IR ) TR B A PR A W

IEETmIE W HR 82
2.FMER:
it
LB | HBSERR
IE/‘E‘\E ;:Bﬁz ii—l—
o =RE | =AE .
=
(F) = Seh =R
(F) (F)
(FP)
- S 777 0 0 280 | 36% | LEHMME, ®
Bl S M
B T A
® M 858 0 0 162 | 18% ‘
AR HLBE I R
: 7
B 1004 0 0 320 | 33% | K, A
I THISERER S
45 | EREEEEE,
360 0 0 57 15% | o
— 8. EWAN, &
ERE 623 15 15 319 | 51% | EEManEm
R
Bt 3622 15 15 1147 | 31%

Z. HEkEREER:

1. KEXBHEBR
BEMITEMRE (R2XEEISESE) , HAEHNNGHHTRLE
B, ERELEMRFETIGRESBARZENELARHTRRE
i, MIFSRENHE, E5FVARZLHTER, EXReXEHIE
i

2. REHERE

2/6



O IE AT ) TR FE A TR A F

AT W F H i 82

1) REFHE: BEEIEMZRRBRETIIZIGTEREERFTHEL; &
S5ERYEE (XB) ATHEIRARES, BEOQERTER, BAT
BERMMIETTEY,;, BMRELREVERSEERMNEER, BERITI
B &R LR H M R BT . BEi TRA#THEXREREETE.
2) #ERHE: BERENEMARBERBLK, SRUTHERRE, BHE
FRABRELEMMRMA. Hl. HERFEE, RORMELARZBREK
M, WERIER T,

B.HMIER (REFENERTRADER)

1) S FEMRGEEHR, HUETIARBE. FIHAFUR, mIE N
MR LBRFRLEF TR, KREEERTHEARRBIESN;

2) MESHMER, MREIHE

4. NIFRITAR:

LB IR | REEE
X
H = BAM THESR
wE 2 22
5 B B
= ® 30 BAREENE
e 2 11 TEX, Bt
e 3 o RIRHEA R
BEERE
EZE : .

3/6



WM IR ) TR B A PR A W

P H R 82
Bt 18 79
=, TERERMHAKRER:
wg@g Rit EBREREET
B .
C lemms spry | SHBR | B | papm| SRR
=
(PCS) | (Pcs)
1 | RAH | mmz 43464 0 37489 Riw B
2 hin RS 3622 0 3606 w2
B
243622
3 | ARXR | &HiBHzE 0 3631 A2
H=E
L= )]
4 EBER. 7 3622 0 3009 ER
]
FIBZEE (&
HAtb#44 sy |49 3622 F
; $) /MR e
(EmE) BN (Bt mBs
NBECE)

& BIBME#hcHE, E5EREFQREENBEHTHEOTRHRERET
18, MHEZETSMEREEEM, SR RBMESTERSERLD, SitEuEY

BEMEMIRE . TR,

4/6



WM IR ) TR B A PR A W

IERm IFE W3 H 4k 82
9. BBEMIXI:
b X ABEREIR (FP) |RWHNRIE (F) = p=a
R 20 0
w_M 18 0
i=pen 12 0
R 8 0
ERR 5 15
Bt 63 15

5/6




